- an extension of ‘4 Dom’.

In this diagram the four dominoes make a 'window' with one
empty space and the spots on each side total nine. (We could say
the ‘spot sum’ in this case is nine.)

.

What you have to do:

Try to make seven windows like this, each having four dominoes,
so that all 28 dominoes get used.

Make sure that within a window each side has the same spot-
sum.

Important: Although some windows might have the same spot-
sum, they will not all have the same spot-sum - can you explain

why?
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